
790 Adventure, orange 2019 <2019><US><F9675S1>
TANK, SEAT

48117

Pos Part Number Description Additional Text Quantity

1 63507047000 Passenger seat 800 Adv. S 1.00

2 63507040000 Driver seat 800 Adv. S 1.00

3 63507047044 Tech-Box Kit 1.00

4 63507113000C1A Fuel tank with decal 1.00

5 63507058000 Fuel tank fairing 1.00

6 0912050083 SHCS DIN 912 M5x8 3.00

7 0912050303 AH SCREW DIN0912-M 5X30 3.00

8 63507008050 Fuel filler cap 1.00

9 63507080100 Fuel level sensor 1.00

10 0912050163 AH collar screw DIN 912 M5x16 4.00

11 58507003200 Fuel cock cmpl. 2.00

12 0025060126 HH collar screw M6x12 TX30 4.00

13 58031005000 CLAMP YDNAC 10128 12MM FOR 12 LITER TANK 2.00

14 63507016000 Interconnection hose 1.00

15 63515026000 hose tank overrun 140 mm 1.00

16 61007065000 collar bushing, front tank hol 8.00



17 63515027000 hose tank overrun 570 mm 1.00

18 61007060000 collar bushing, bearing, outsi 4.00

19 0912080403 AH collar screw DIN0912 M8x40 4.00

20 21007008151 gasket tank insert 1.00

21 60307080090 Gasket fuel lever sensor 1.00

22 69015019010 HOSE CONNECTION STRAIGHT 1.00

23 00001000015 Motorex Fuel Stabilizer 125ml 1.00

24 0900000601200 Seat screw M6x11.5 ISA30 2.00


